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Bytel Byte2 Byte3 Byte4 Byte5 Byte6 Byte7
Sync Address Commandl | Command2 | Datal Data2 Checksum
The synchronization byte is always OxFF.
The address is the logical address of the receiver/driver being controlled.
Command 1 and 2 are as follows:
Bit7 Bit6 Bit5 Bit4 Bit3 Bit2 Bitl Bit0
Commandl | Sense | Reserved | Reserved | Auto / Camera | Iris Iris Focus
Manual | On/ Off | Close Open Near
Scan
Command2 | Focus | Zoom Zoom Down Up Left Right Always
Far Wide Tele 0

Byte5 contains the pan speed. Pan speed is in the range $00 (stop) to $3F (high speed)
Byte6 contains the tilt speed. Tilt speed is in the range $00 (stop) to $3F (High speed).
Byte7 check sum is the 8 bit (modulo 256) sum of the payload bytes (bytes 2 through 6) in the message.
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Command Byte3 Byte4 Byte5 Byte6

Preset Set 0x00 0x03 0x00 0x1-0xff

Preset Call 0x00 0x07 0x00

Preset Clear 0x00 0x05 0x00

3D 0x07 Command2 Pan Position 0-255 | Tilt Position 0-255
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command?2 % B ) Right A1 Down 4 1, Command2 Jy: 0x12
Pan position =( Hangle/2)*w/wid,;
Tilt position =(Vangle/2)*h/hgt;
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